FIGURE 7. NOAA C-CAP LANDCOVER

Zé\'\‘ — — — ——T-— — — —— e e — — — — — —
Al T—/— Salmon Creek B __T_-T__ _-—'-

® )
< 505 > 3 -
N B ) o e~
\" A1 B —
V7 — i S —
: : \

N
/ ‘ P ‘\

b

Y. !\\.—/

i / " y ' ’ e R ikt ﬂc”%h\ >/ T
' ﬁ | . PR | ]

gt Creee 7/
i
]

)
= Toutie S

COWLITZ COUNTY
SHORELINE MASTER PROGRAM

‘ [T Tty HE
LA K P T = I
* s dom, IR0 Y N
i N =
DRAFT i ol
%3‘ N

C-CAP Landcover Classification®

[ ] Bare Land @_/ Yo
I Cultivated 15
[ Deciduous Forest
[] Developed Open Space
I Estuarine Aquatic Bed
I Estuarine Emergent Wetland
B Evergreen Forest
[ ] Grassland
[] High Intensity Developed
I Low Intensity Developed
[ Medium Intensity Developed
B Mixed Forest
I Palustrine Aquatic Bed
I Palustrine Emergent Wetland
B Palustrine Forested Wetland
I Palustrine Shrub/Scrub Wetland
[ Pasture/Hay
B Shrub/Scrub
[] Snowl/lce
[ Unconsolidated Shore
B \Water
~—~_ SMP Stream
] SMP Waterbody
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[] City Boundary
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Notes:

! Landcover data is sourced from NOAA C-CAP, 2006. Classification
were dervied from Landsat scenes analyzed according to the C-CAP
protocol to determine land cover.
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Data sources:
Cowlitz County, NOAA, Department of Ecology, The Watershed
Company.
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of interest in red.
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All features depicted on this map are approximate. They have not been \(80 \ \\
formally delineated or surveyed and are intended for planning purposes \ :
only. Additional site-specific evaluation may be needed to confirm/ verify I L
information shown on this map. A= T






